TR A PE R, (B —X) (&)

20234 JiF 44 54 64 7H 8H 94 10 H 114 12 A 1H 24 3H 41~6 7~9 [ 10~12 | 1~3 [#EEAE] Hkik
A 1, 009 0983 [ 1,219 [ 1,108 977 | 1,257 | 1,348 [ 1,306 | 1,144 388 3,211 | 3,342 | 3,798 888 [11, 239 3.2

16.5 38.3 20.7 13.5 17.3 1.1 16.3 7.4 2.7 -3.7 24. 1 9.5 8.9 -3.7 11.8

[Ff=n—p 1, 009 983 | 1,219 [ 1,108 977 | 1,257 | 1,348 | 1,306 | 1,144 888 3,211 | 3,342 | 3,798 888 | 11,239
W Al OB Mk [19,712 [17,897 22,050 [20,312 [18,606 [20,944 [21,210 [20,533 [19,282 [17,370 59, 659 [59,862 [61,025 | 17,370 [197,916 55.9

15.4 29.7 10.3 4.7 12.4 2.3 -3.0 8.1 —7.4 7.7 17.3 6. 1 —6. 2 7.7 5.0

e 7,753 | 7,535 | 8,537 | 7,992 | 7,455 | 8,319 | 7,640 | 7,570 | 7,785 | 6,981 23,825 23,766 |22,995 | 6,981 |77, 567

3=y I 11,959 [10,362 [13,513 [12,320 [11,151 [12,625 [13,570 [12,963 [11,497 [10, 389 35, 834 36,096 |38,030 10,389 [120,349
BEHIL— 1,381 | 1,386 | 1,444 | 1,269 | 1,363 | 1,339 | 1,286 | 1,229 | 1,165 | 1,244 4,211 | 3,971 | 3,680 | 1,244 [13,106 3.7

43. 6 54.5 39.2 7.0 23.8 17.9 12. 4 5.2 -3.3 -1.4 45. 4 16.0 4.6 -1.4 18. 1

Ja=3)v=y 64 54 69 58 52 62 61 61 71 51 187 172 193 51 603

57277?ﬁ/ X 216 213 222 222 203 206 202 222 205 220 651 631 629 220 | 2,131

FITV=Y V=

I 22 18 19 21 20 16 29 35 35 13 59 57 99 13 228

Sk 1,079 | 1,101 | 1,134 968 | 1,088 | 1,055 994 911 854 960 3,314 | 3,111 | 2,759 960 |10, 144
- R 5,640 | 5,563 [ 5,102 | 4,564 | 4,962 | 4,096 | 4,837 | 4,110 | 4,513 | 4,681 16,305 [ 13,622 [13,460 | 4,681 |48, 068 13.6

21.7 28. 1 6.1 | —25.7 | -19.7 [ -28.6 | —22.2 | -33.6 | -30.3 | -31.0 13.1 ] 24.6 | -28.7 | -31.0 | -17.3

0— 494 438 463 416 512 445 439 427 348 352 1,395 | 1,373 | 1,214 352 | 4,334

AR kR EE M| 5,104 | 5,088 | 4,590 | 4,110 | 4,420 | 3,609 | 4,348 | 3,630 | 4,114 | 4,300 14,782 12,139 [12,092 | 4,300 ]43,313

7277 bR 492 37 49 38 30 492 50 53 51 29 128 110 154 29 421
a7 U — iR [ 7,156 [ 5,973 1 6,991 | 6,333 | 7,426 | 6,343 | 5,686 | 4,799 | 5,633 | 5,947 20,120 20,102 [16,118 | 5,947 |62, 287 17.6

—26.5 | -45.2 | -23.5 | -47.8 | —20.7 | -17.5 | -22.6 | -33.6 | -13.8 | -10.0 -32.4 | -31.1 | -23.6 | -10.0 | -28.1

EIRY 7,156 | 5,973 [ 6,991 | 6,333 | 7,426 | 6,343 | 5,686 | 4,799 | 5,633 | 5,947 20,120 20,102 16,118 | 5,947 |62, 287
NN 1 6 9 3 2 7 2 6 6 1 16 12 14 1 43 0.0

0.0 | 100.0 [ 200.0 0.0 | -60.0 | —22.2 ] 100.0 | 200.0 [ -40.0 [ -66.7 128.6 -29 7.7 | -66.7 7.5

[ B 1 6 9 3 2 7 2 6 6 1 16 12 14 1 43
JERE T 5 R 74 107 105 73 94 33 78 102 112 77 286 250 292 77 905 0.3

-35. 7 20. 2 11.7 | -26.3 4.4 | -24.5 | -22.0 | -12.1 14.3 | -23.8 4.0 | -16.4 -7.0 | -23.8 | -10.6

(LR T =5 R 74 107 105 73 94 83 78 102 112 77 286 250 292 77 905
Z DR 1,906 | 1,968 [ 2,235 [ 2,209 [ 1,845 [ 2,139 [ 1,946 | 2,059 [ 2,098 [ 1,848 6,109 [ 6,193 | 6,103 | 1,848 20,253 5.7

-10.7 2.0 -5.5 -4.4 | -1.3 -4.0 | -18.9 -9.2 8.2 | -12.1 -5.0 5.1 | -12.2 | -12.1 -8.0

Al E=ay7 vy | 1,561 | 1,631 | 1,865 | 1,808 | 1,482 | 1,764 | 1,612 | 1,738 | 1,776 | 1,534 5,057 | 5,054 | 5,126 | 1,534 |16, 771

TR AR 345 337 370 401 363 375 334 321 322 314 1,052 | 1,139 977 314 | 3,482
Nk 36, 879 |33,883 [39, 155 |35, 871 |35, 275 |36, 208 |36, 393 |34, 144 |33, 953 |32, 056 109, 917 |107, 354 |104, 490 | 32, 056 |353, 817 100. 0

3.8 3.7 0.2 | -15.1 -2.3 -6. 3 -9.6 | -15.8 | -11.9 5.5 2.5 -8.2 | -12.4 5.5 -6. 3




